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5. This question booklet is divided irito

two sections Sectie>n-A qnd

Sectton-B.

6. 7l/TT$-31 'If 70 a-RJA&-3 'flR t, 6. In Section-A, there are

70 objective type questions, out
of which any 35 questions are to
be answered. If more than
35 questions are answered, then
only first 35 will be evaluated.
Each question carries l mark. For
answering these darken the circle
with blue / black ball pen against
the correct option on OJfR Answer
Sheet provided to you. Do not u.se
whitener / liquid I blade I nail
etc. on O.MR An.swer Sheet,

otherwise the result will be
treated invalid.

PR-if ii fcl,�1 35 'I1RT cfiT TTfT ro

..,,f.ta,4 t, 35 m ir � q)f

"'3rf'7 � [["( W..rrf 35 'cfiT i:7 4Rll=ti.-/.,. 

WTTI J/r-4-:fi � TFf7[ 1 � � t,

� Trff � c1i' fRrz -3qf,,f¢lj cRP-1'

TfT! OMR -3rff-rr:rcFi i:f � TTTZ �
li#cti?-<1 � ;:/ft.j- I q;7ff 'ilTFf q;r ii
WTFf "€fit I MW ,ft Ri#iU $ 11$2➔t1/

?f1'M�/iR's/ ➔l&➔ �'fliT'"' 

OMR �- fT;l1li" if R4/II i#it➔I '1PfT

t, 31.:qen rmwT qfio11q 311//..q

WTTI

7. 7SfrTs - � -q 20?ff/ 3rllJ4 'flR f I

J,/?q-:fi � ftrr! 2 3TiE Rwr.r t, fJFrzt 

ii ™ 4J. 1 o 'I1RT 'fliT' � ro

31f.t4,4 t , Rc1i' 31fh{? m � &TJs if 

6 -(td 3rlt14 flR � Tfl1 t, J.ir4cfi 

c1i' Bl! 5 3ic,; f;mffrn t, f;:r-ri; #

p,,�7· 3 R'FfT q;r 3nr' ro 31Ac:1,4

t, 

7. In Section - B, there are 20 short
an.swer type questions, each
carrying 2 marks, out of which
any 10 questions are to be

answered. Apart from these, there
are 6 long answer type
questions, each carrying S marks,
out of which any 3 questions are
to be answered.

,... " 
� 'cil �" 8. fcfim � ct, $q,;JJ.-/cti 34ch?OJ 'cfiT 8. Use of any electronic appliances is

WW, �ufrt4/ ctMrl t I · strictly prohibited.
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W'O"I - at I SECTION . A 

a-�- \lR I Objective Type Quc1t ions 

'l1Fr � l ff 70 ncfi' ll,' U?Q* J1R (I;" RTV 'i1fr �,.q � T"f1! !, f;,--,ii '1 f!r1>

� t I J('(R mr � Tf'! ,rft faq1pq 7$1 OMR me Q'( N¥➔rl c1if I fo#i-;;;fr

35 UT-ft 1.KT 7nr 'i" I 35 >< 1 = 35

Qi,cstio,i Nos. 1 to 70 hav<> four options. out of which only one is correct 

Yll" har,e to mar/..: your selected option, on the OMR-Sheet. Ansu1er any 

JS (ft1e5tions. 

2. 

�������t 

(Al. tt<1Ti:t / � (B) tetfff )( tftl{

(Cl � I tetiq (D) ����

Unit of linear charge density is 

(Al coulomb/ metre (8) coulomb x metre

(C) metre/ coulomb (D) none of these

� fu � Jlsidl cnT f¾ifl� � � � 

(Al I MLT
2 A. 1 1 (8) I MLT-JA. 1 1

(CJ I .�LT-
3
A I (D) I ML2T-3 A-I}

Th� dimensional formula of intensity of electric field is 

IC/ I A1LT 'AJ 

,s, 1 MLr-·"A· 
1 1 

( D) I ML '2 T -:\ A . I I

35 )( 7 = JS 

·-·, ·--···•· ·-· ·--·,..2--1-,-. A-/-. X-r"""'t-�
:>
�O�O�J--1-

.1
1-,-,.0-,r------:::Pa-gt"-- --:-J-/:-:�:;:1.i°

--·---·-·--•"'--
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a 1. 111 I

3. 8 tMiq � � -q � $�1'.f?l-11 c#;'t ffl§Q"T t

{A) s x 10 1g
(Bl 2·5 ")( 10 19

(C) 12·8 x 10 19 (D) 1·6 x 10 19

Number of electrons present in 8 coulomb negative charge is 

(A) 5 x 10 19 (B) 2·5 x 10 19

(C) 12·8 x 10 19

lP) I·6x 10 19

4. s tfMT'4 � � iq(iiq( om Pclqt\a 3lTcffi 9<fll< 5·0 � � tR -ra � �1 �

f4c:f>I� � � � � t

(A) 5 X 10-2 iM1'4-� (Bl 25 x 10-2 iMiq-� 

(C) 1 iiMl'i-� (D) �

Two equal and opposite charges of 5 coulomb are kept mutually at 

a distance of 5·0 cm. The electric dipole moment of the system is 

(A) 5 x 1 0 -2 coulomb-metre (B) 25 x 10 -2 coulomb-metre

(C) 1 coulomb-metre (D) zero

5. QTg � 3il��id � � � � � � � � 3m: � 'TI:� �

(A) cmnt• 

(B) � t

'(C) � �� t �tHI �tRt 

{D) ffl��t 
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7. 

I l 17 I 

0 "'. phcrc to the
n mo · I'. d metallic .. , Vin� lt'Qf'ft thr 8urr�C'(' or rt rher�c 

cct\t� of th(" 8Phc�, the electric r1etd

(B) 

(C) 

(D} 

•n�ascs

re matns same- as at the surface'

7.ero at all places

n electric dipoles are situated •in a closed surface. Total electric flux 

coming out from closed surface will be 

(A) q I Eo (8) 2q/ EO

(C) 

n.q/ 
E

O
(D) zero

���it������ mm� 

1 p {B) 
1 _p_ 

(A} 4n e0 r
241t e0 r 

• 

{C) � (D) 3H({

d Position, the elec-tri<.: potential due to electric
In broad-si e-on

dipole is 

(A) 
1 .P.. 

4:-t ( () , 

(R) 

(CJ 
tD) infinite 
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8. � $Hcf<;i-l 5 cfTR. fq'l.TcIT� � � � �,rrn � I �� ID7J � n

10. 

(A} 5 �

(C} 5 3lll (D) 5 crR

An electron is accelerated to 5 volt potential difference. The energy 

gained by the electron will be 

(A) 5 joule (B) 5 eV

(C) 5 erg (D) 5 watt

(A) E =-( ��) 
{B) E =-(!�)

{C) E= (��) 
(D) E = (J�)

The relation between electric field ( E) and electric potential ( V) is

(A) E=-(��) (B) E =-(..£!:..)dV 

(C) E= (��)
(D) E= (1�)

· r · � � -ra � � � � iR f.lr:fl14 � � � � �jsti41:tq1d)

(8) r 
3 t 
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The electr t · · d. I ·sOS atic enerxv or t.h<· �V�lcm ITHH.k bv LWO ckc:Ln<.: ipo <. 

kept at a distan · , ·ce r 1s proportional to

(A) 

(C) r4 

(8) 
:l 

r 

(D) none of these

1 l. � � � t

(A) ��q,1

(C) � mftfficfir

Picofarad is the unit of 

(A) electric charge

(C) electric capacity.

(B) �-8:nf c6t dl�dl cf;T

(D� � 4t-tcfft cf>T 

(B) intensity of electric field

(D) electric flux

(B) � � 3lTcf;R � .

(D) � � ffi &fd{lfl �

Capacity of any condenser does not depend upon 

(A) shape of plates (8) size of plates

(C) charges on plates (D) distance between plates

(A) .. 1·11 �

(C) gfcf;lft

(B) 10�

(D) 1 · 11 w:ft
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14. 

15. 

16. 

I l 17 J

The capacity of a spherical conductor is l ·O �LF. Its radius will b(' 

(A) l · 11 metre (B) 10 metre

(C) 9km (D) 1 · 11 cm

� � tfil quQyai� mot � 

(A) - 1 (B) 0

(C) 1 (D) 

The dielectric constant of a metal is 

. (A) - 1 (B) 0

(C) 1 {D) infinity

f.\qf�maa -q -a � � e�,n:� � � � ? 

(A) '(!,:�. (B) -gt :er.

{C). '(!,. -tjt. � -gt _-tjt. zyn (D) ';J o1 '(!,.-al. � ';J � -gt-�-

Which of the follo\\ring is�locRed by a capacitor? 

(A) AC (B) DC

(C) Both AC and DC (D) Neither AC nor DC

40 W � 60 W � � � 220 V mcf -a�� �I � >ITTl'UQ li �jqlct

'ITT1TT 

(A) 4:3 (B) 3:4

(C) 2 :·3 (D) 3:2
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1 7. 

! I l 7 J
Two bulbs of 40 W and 60 W are connected to 220 V source. The
ra t.io of th · etr resistances will be

(A) 4 : 3
(B) 3 : 4

(C) 2:3
(D) 3: 2

� oR cfil �� 500 Q �I Jttcfi) �-cll{-itfidl mrfl

(A) 0·002 3l)q- 1
(B) 0·02 3Tilf -l

(C) 50 3AA-l {D) 500 3W{-l

The resistance of any wire is 500 n. Its electrical conductivity 

will be 

(A) 0·002 ohm- 1

(C) 50 ohm-1

(B) 0·02 ohm -I

(D) 500 ohm-1

� � �-ici'i 51fa(ltf cnT Jijqld m1fT

(A)
1
n

1
n

2 

(B) n

(D) 

n equal resistors are first connected in series and then in parallel. 

The ratio of maximum and minimum resistances will be 

(A) 

(C) 

1 
n 

1 
n2 

(B) n

(D) n
2 
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11 
10 �������ftiQ. 

(f\) � (1H (f)1 3f� qft-q}G ◄41"11 �n 

(Bl � oH � URl ifil llll-11 �

(C) � � � tm:1 iti1 ◄41-11 �

lD) ����◄41-11� 

To increase the sensitivity of a potentiometer 

(A) the cross-section area of its wire wiU have to be increased

(Bl current in its wire will have to be decreased 

(C) current in its wire will have to be increased

(0) length of its wire will have to be increased

{B) �m:�-a 

{D) � ffl8.lUT -a

Kirchhoff.s second law of electricity is related to 

(A) conservation of mass {B) conservation of charge

(C) conservation of energy (D) conservation of momentum

(A). � 

IC) �/i'.w:1�1-lTTl\ 

{B) �/JM 2

(D) �/c)Jiq�l .?
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22. 

Which one of thr followi ng 1� not •l unit of magnetic fieki :,>

(A) tt'sle

(C) newton/ ampere-metre-

(Po eo)-112 ifi1 tfR t

{A) 3 X 10 R � / �cf>OS 

(C) 3 X 10 g '@:ft /�cf>US 

The value of (µ
0 

e
0 

)-1/2 is

(A) 3 x 10 8 cm/second 

(C) 3 x 10 9 cm/second 

(B) 

(DJ 

(B) 

(D) 

(8) 

(D) 

weber/metre- 1

newton/ampere '.l

3 x l 0 10 � / �c+,ug

3 x 10 8 M1�cf>us 

3x l0 10 cm/second 

3 x 10 8 km/second 

I I I 7 / 

23. � ti4FI -gl-i44>'lll � B-q � 0031T � ti'iMlrd( � $H�i"1 �ticf>I �

e �' � v l1 -i::4<.'1di �I $clcf�i-i "CR� qJffi � �

(A) euB

(C) �

(8) ev / B

(D) Bv /e

An electron of charge e moves parallel to uniform lines of force in 

magnetic field B with velocity v. Force acting on electron is 

(A) evB

(C) zero

(8) ev I B

(D� Bv/e 
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(A) (B) J.14f!ltl 

The nature of electron beams moving with uniform velocity in the 

same direction will be 

(A) converging (B) diverging

(C) parallel (D) none of these

25. �c:Q4 l$i (B ) -q � (� ) 1klcfi)4 � q@ mu qro '1U �'lo
. 

➔ 

G@-� (,: i cf>T 1lR mm i

(A) 

(C) 

➔ ➔ ➔ 

,: = m x B

➔ 
m 

t=­

➔ 

B 

➔ 

(D) 

➔ ➔ ➔ 

t= B xm 

➔
B

t=­

➔ 

m 

The value of torque ( ,: ) experienced by current loop of magnetic 
➔ ➔ 

moment ( m ) placed in magnetic field ( B ) is 
➔ ➔ ➔ ➔ ➔ ➔ 

(A) t=m x B (B). t= Bx m 

➔ 

(C) 
m 

t=-

➔ 

B 

(A) i:kHfq ( C )

(C) �( n)

➔ 
➔ 

B 
(D) t=-

➔ 

m 

(B) � ( V)

(Q) � ( H)
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27. 

SI u . . nu of sdf. rnduclion is

(A) coulomb { c)

(C) ohm (fl)

(B) volt ( V)

(D) henry ( H )

r 1 11 1 

tfTg � iR � ,r)Hi:f> � ijutcht� � q zy;r-J � TR Jfichl � � mcfl �

On oscillating any metallic sphere in ttte magnetic field, its 

oscillatory motion is 

(A) Accelerated

(C) Uniform

(B) . Dam ping

(DJ None of these 

(A) tnU � 3-,t»fl4 >1lTTci "CR (B) �-"3�4>)� � 'CR

(C) m 1if<lfifq 'CJ'{ (D) fu mu 'CJ'{

The working principle of dynamo is based on 

(A) 

(B} 

(C) 

(D) 

heating effect of current 

electromagnetic induction 

induced magnetism 

induced current 

f 24 / A/XII-5003-(31/40" Page 13 / 32 
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II lll7j 

J() � � ◄IMlfi. �����I �'""� it urn pm rt, ,n � •. 

� • 

(Bl 

(C) 

(Dl 

� 3ftl �lt-1'4i � 11"",ftH � 

� lfn 'i:UHcfi � � 341q{$c+; JTfti � 

A magnet is situated near a dosed conductor. Current can be 

produced in the conductor, if 

(A) only magnet is in motion

(8) only conductor is in motion

(C} both magnet and conductor arc in motion

(D} there is relative motion between magnet and conductor 

(A) �� ( 0) �

(CJ 11-iit4ih:f � ( B) � 

(Bl 51fdu� ( R 1 �

(D) �-a��

The value of current obtained in a moving coil gal\"anometer 1s 

proportional to 

(A) deflection ( 0 l

(Cl rnagn<.:1 ic fidd ( U I

(B) resistuoce ( R )

k-1/t\/Xll-:,CIO:I f3l/_•�.d
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J I I 7 I

(A)• �GHict� q f.rq �ti (BJ � -q � gfuuQ 

.:_ (C) � q � mutt (D) tt'-IHitH � sti7 �Q� 

A galvanometer is converted into ammeter by adding 

(A) low resistance in parallel

(B) high resistance in series

(C) low resistance in series

(D) high resistance in parallel

The magnetic field produced at the centre of current carrying 

circular coil is 

(A) on the plane of coil

(B) perpendicular to the plane of coil

· (C) at 45° to the plane of coil

(D) at 180° to the plane of coil
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11 "'"""""'"' I I l , I 

.\J. � I Ml 1'4C4J(I � � ��ifi � Htilt$ t WIT.fRn n «HI◄< �� q 

� � st�cf; � � � � 

l.W 

n 

M 

2n 

{8) 

(D) Mxn

On dividing any magnet of magnetic moment ( M ) parallel to its 

length into n equal pieces. the moment of each piece will be 

(A) 

(C) 

M 

n 

M 

2n 

(1') 341�<€1� �?.i 

(C) Sl@"Skt.{;)(I �

M 

n
2 

Mxn 

Which of the following sho�s hysteresis ? 

'· 

(A) Paramagnetic materials (8) Ferromagnetic materials 

(C) Diamagnetic materials (D) None of these 

(A) 
µom 
4n r

{C) 
µo rn

4n r 
J

(B) 
�1

o m 
--

4n r2

(D) 
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I 111 l 
The value of ma ·t" . gth gnc JC potenttal at a distance r from a pole stren 
mis 

(A) 

(C) 

µo ,n 
4nr 

µom 
4rr rJ

(B} 

(D) zero

36. ��s���cl)(ffl�?

37. 

{C) 3F1 mu

What is produced by induction coil?. 

(A) High current (B) High voltage

(C) Low current (D) Low voltage

�J.i14;)4 � :a �n��� 

B
2 

(B) 
B

2

(A) 2µ0 µo 

B
2

(D). B2
(C) 4µ0

3µ0

The energy density of magnetic field B is 

(A) 

(C) 

B2 B2
(B) 

2µ0

(D) 

I 24 / A/ XII-5003-(31/4'0) I Page 17 / 32 
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a 

(BJ 

(DJ 

I I l / ; 

What value of alternating current is measured by hot wire­

ammeter? 

(A) High value (8) Average value

(C) Root mean square value (D) None of these

39. � d; ��Cfii;-1 � � 1"44i'l� � B MGfcHt m, oiJ ds � � i:ILiictl�
...,

{A) Bds cosO 

(C) Bds tanO 

(8) Bds sinO 

(D) � 
➔ 

If magnetic field B is perpendicular to surface area vector d; 

then the magnetic flux on ds area will be 

(A) Bds case 

(C) Bds tan0 

40. Si@Gfl
U

T cf;f � moJ � 

(A) �

(C) �

Unit of reactance is 

(A) ohm

(C) henry

(8) Bds sinO 

(D) zero 

(BJ tesla 

(D) farad

--------71f22447'.; Ar/DX1ill-l-S5nioorv3�_::13�
1 /::4():-, r1 --------1 
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1. 
41. � � TlsJi sq 5iR4,qtff mn cf)T mt21 � � t

(A) /
(B)

I
2

(C) 2/ (D) �
Mean value of alternating current in a full cycle is

(A) 

(C) 

I 

21 

(B) 

(D) 

I 

2 

zero 

r 1 11 1

42. � Sirqlqdf tTTU (fqT fa.en. � � � c:f,(1H1{ � �, o) ffl �01jc:f, "c:f,J tJR

43. 

-

�t

(A). cos� 

(C) sin <I>

(B} cos 2 
<I>

If the phase difference between alternating current and f:. m.f is <I> , 

then the value of power factor is 

(A). coscj> (B) cos 2 cj>

(C} sinq> (D) tan<p

AC qf,q2f -ij fl cf>c.1("! � � � 

(A} - SI fa U tJ -ij (B) g(c:j,?q q

(C) (D). ��� 

In AC circuit, power is lost in only 

(A) resistance (B) inductance

(C) capacitance (D) all of these

j 24 / A/XJJ-5003-f31/40) I Page 19 / 32 
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44. 

45. 

46. 

I 1 1 7 I 

� �frcH61ifl � QTTI � �4lq;{u1 I .. ().6 sin 100 nt if f4h.:f�t1 � I �itj,ff

tml��t 

(A) 501t (8) 50

(C) 100 TC (D) 100

An alternating electric current lS represented by equation 

I = 0·6 sin 100 nt. The frequency of alternating current is 

{A) 501t (B} 50 

{C) 100 TC (D) 100

� � 'ij 64ctt:!R ,;Sil�cttHl ttm � t 

(A) DC (BJ AC 

(C} DC�ACGFft (D) ����

Current used in electroplating is 

{A) DC (B) AC

(C) both DC and AC (D} none of these

� � � � siR,�Qi( � t

(A) ,;Sic4dct � � (B) "3m-f � �

(C) ij4dct �� (D) ,;Sicldct � �

A large virtual image of object is formed by 

(A) concave mirror (B} convex mirror 

(C) plane mirror (D) concave lens

124 / A/ XII-5003-(31/40) I 
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48. 

49. 

1 1 l 7 j

� fftn P
2 

�I t'f1I H'if!� � c#;t ¥tJfil

(A) 

(C) 
(B) 

(D) � +P2

Pov,..-crs of t l wo enses kept in con tact, are Pi
equivalent lens will be 

(A) !J_
p2 (B) 

(C) pl xP2 (D) 

� 
+

P2

�"{ll� d(Ji�ut'B"amq>qmoTt? 

(A). � (B) 

(C) -;fmr (D) �

The wavelength of which colour is min�mum ? 

(A) Violet (B) Yellow

(C) Blue (D) Red

R� cf)l Plt1fo1 � cfiROI � i ? 

(A) �chi-1 (B)
S,�OR

3iqqJ-1 (D) cfuf-fcf�(C) .. 

Which causes the formation of rainbow? 

(AJ Diffraction 

(C) Refraction

(B) Scattering

(D) Dispersion

I 24 / A/Xll-5003-(31/40"  
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50. � tl�<�ff cf 51fftfilt.i( � �

Image formed in compound microscope is 

(A) real and erect (B) real and inverted

(C) virtual and inverted (D) virtual and erect

51. � � � � � -q"{ � � cnT � Sl@filt.if "ITTfil i

(A) qj�facfi � "3RT L�� ql�facfi � � 

(C) 3ll'lmt�m (D) 31NRft�"3RT

Image of any object formed at the retina of human eye is 

(A) real and inverted (B) real and erect

(C) virtual and erect (D) virtual and inverted

52. � mr 'cfiT �qE?I( � sifTffi �

(A) ��-zyt-q (B) ���-q

(C) � W! zyf -q (D) ji fil �cf, a I -q

Convex lens·is used in 

(A) short-sightedness (B) long-sightedness

(C) presbyopia (D) astigmatism
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(0) 
The colou r of sky is blu d e ue lo 

(A) interference
(8) 

{C) 

scattering 

diffraction (D) polarisation

� cf;ffi- . � fflo1 � cf>RVT Sl�l�I � &ifd�{OI -q � � � � �

(A) ci{•i�9f � e'4ljqld) (8) ti('I�� � ogHn41j41JI

(C) {i(•l�9f � qtf t eq1jq1JI (D) cf(il�� � cJ7f � ogHn41:jqrJI

1 l l 7 I 

The fringe width in interference of light due to two coherent 

sources is 

(A) proportional to wavelength

(B) inversely proportional to wavelength

(C) proportional to square of wavelength

(D) inversely proportional to square of wavelength

55. Q_cficcOff �cfii�I � � ffl<l �-eii� �-if@�'��

.... 

(A) <'ftS4dl� � � (B) 3WfTiJ WlR �

(C) 

, 

Two sources of monochromatic light is coherent, when their

(A) intensities are equal (B) amplitudes are equal

(C) phases are equal (D) none of these
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50. 

57. 

58. 

I 1 I 7 I 

-g\-� ai11�uf � 

(A) /\.=hmv (8). 
h 

')--.. -
mv 

(C) 
mc

2 

(D) 1. = hvA=-

de Broglie wavelength is 

(A) 1.=hmv (8) 
h 

A.=-
mv 

(C) mc
2 

(D) A.=hv"A.=-

�m-f3llmfult 

(A) mu t {lel4Rcfi "5NJq � (B} Slcfil_:tl-fcfyo � tR

(C) mu t ijMC'14 � � (D) fcfyo-�ke ch)4 � tR

Photocell is based on

(A) chemical effect of current

(B} photo-electric effect 

(C) magnetic effect of current

(D) electro-magnetic induction

���t 

(A) �ct�T-o t (B) n -"tSfll.fl 

(C) �� (D) q{q 1<!!3TI �

Cathode rays are group of 

(A) electrons (8) protons

(C) neutrons (D) atoms
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S9. 

60. 

61. 

62. 

"tf�41ftTof,� �� � 31tf-� t

(A) 0·6931 x A

(C) 0-6931

(8) 

(D) 

Half-life of radioactive substance is 

(A) 0·6931 x )..

{C) • 0-6931
A 

� TJlith � S.I. � � 

{A) �

(C) ma�

SJ. unit of decay constant is 

(A) metre

(C) per metre

(B) 

(D) 

(B) 

(D) 

(B) 

(D) 

log 102

j, 

� �

0·6931 

log102

A 

Average age 
0·6931 

$ 
1ftl{ 2 

hertz 

metre 2

9
0 

Th230 � � q{ql'1-ij � � � t

(A) 320 (8) 230

(C) 140 {D) 90 

. f . f Th230 · Number o neutrons man atom o 90 
1s 

{A) 320 (B) 

(C} 140 {D) 

P-N � :Sl4ls cf;T 344111 cfi& � � 

{A) "51qqqi�� (B) 

(C) q13�?:{ cfa � (D) 

230 

90 

�ct<:h � m 

�l!ct)(tl � �

I 24 / A/ XII-5003-(31/40) I 
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P-N junction diode is used as

(A) an amplifrer

(C) a modulator

(8) an oscillator

(D) a rectifier

63. f4it�n �,C'"t� 1 mu cfi1 � cf@ mJ q;) � �

(A) ��:ii (B) >1q$n

(C) :Sl�:S (D) R2cf>itl

Instrument used to increase input voltage/current is called' 

(A) oscillator (B) amplifier

(C) diode (D) rectifier

I 117 l 

64. <tfu: � � � � � ( Y) � 1lR � � .Act�i1 if; � ( A . B) �

>Im moT t oT � � t

(A),. AND 

(C) NOR

(B) OR

(D) NOT

If in a logic gate output ( Y) is obtained by the product of its both 

inputs (A. B ),_ then the gate is

(A) AND , (B) OR

(C) NOR (D) NOT

65. 3i4-i:Uelcfi if � � Jid(lel c#;t � � � �

(A} 1 eV (B} 10 eV 

(C) 100 eV (D). 0·01 eV 

--------,,r,:;2�4'i'/ A;"'/�xn1i'"1-�5on':0�3;-_".':,3�1,�
40-1 )r-----Pa_g_e-2-;-�

Previous Pathshala



• l 111 I

The width of r h' ,or idd('n cncrRY J;(ap 1n the �miconductor is

a pprnxi mat c ly

(A) I eV

(C) 100 eV

(8) 10 eV

(D} 0·01 eV 

66. �!#14<-fq � � � � 27 eft fi3nmft � if f!qgFQ � �

(A) ( 1001 l )
2

(C). ( 11001 )
2 

(B) ( I O I 11 ) 
2

(D) ( 11011 ) 2

The equivalent number of d!cimal number 27 into binary number 

system will be

(A) ( 10011 ) 
2

(C) (11001)
2

(B) (10111)2

(D) ( 11011 )
2

67. � cRTf �t!cfilil �, � f.rcm. 50 Hz �.·it f.pfq- � mrft

(A) 25 Hz (B) 50 Hz

{C) . 100 Hz (D) 200 Hz

In full wave rectifier, if input frequency is 50 Hz, then output 

frequency will be

(A) 25 Hz

(Cl J 00 H;1,

(BJ 50 Hz 

(DJ 200 Hz 

J:14/ A/Xll-SOOJ-1311401/  Pa�e 27 / 32

Previous Pathshala



11 1111 1

68. � � � qT3ft1 � fgqT¥f-1 zyn c1i1 � � t. � � �

(B) �

(D) �

The device which works of both modulation and demodulation is

called 

(A) Laser (B) Radar

(C) Modem (D) Fax

69. lfirn � � � cf;t � l) � t

(A) 36oooM (B) 36000 ifu;,

{C) 3600M {D) 36000if\e{

Distance of communication satellite from the surface of tht' earth is 

(A) 36000 km (Bl 36000 mile 

(C) 3600 km (DJ 36000 metre 

70. t1�ut .. ��RRT��

(A) �if (BJ ��ii 

(Cl �if (D) �ii

Attenuation is measured in 

(A) ohm (B) decibel

(C) mho (D) s1emen
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l.l1rg .... I 8£cTION - B
���q11R /Sb ort Answer Type Que■tiona� tl&EII l � 

. 

20 ff¥ 3iUJq f I fir-tf 10 JTRT � '3'irf t I ri1 i;- � 2 31'1f � t : 
Ji if, w,� 

. 10 X 2 = 20 Question Nos. 1 to 20 are
. 

Short Answer Type. Answer any JO questions.Each question carries 2 k . mar s . 
JO x 2 = 20 1. � � lR � � efiT cfii;lctT cfa ��I� SJ.� ft-r@1 2

Define intens·t f l · 1 Y o e ectnc field at any point. Write down its SJ.unit. 

2. � � �.t � 2 x 10-6 cm �Wf � ��� �W' BgT�t,
� � f.pfu � <R-f cffi PcticH I m7TT ? 2
An electric dipole of dipole moment 2 x 1 o-

6 cm is ke·pt inside a
closed surface. What will be the net flux coming out from the
surface? 

3. 6 µF � "{=fmfa cnr � 10 v � 20 v � � q'{ � '3wJf -ij � mo

4. 

5. 

2 

Find the increase in energy of a condenser of capacity 6 µF on 
changing potential difference from IO V to 20 V.

� � 3R-� mm)��� � ? $fl q,J �-� 3GhR0I <!')�v_ , 

1+½+1/2 

What are ohmic and non-ohmic resistances ? Write down one 
example of both. 
� �chl4 � � � ? � -q � itrT � c6Rcf,1 q'{ � cii«fT � ? 

1 + 1 
What is electromagnetic wave ? On which factors does its velocity 
in vacuum depend ?
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+ 1/i + 'I,

7. 
What is cyclotron ? State its two limitations.

� � � 1'4ff.hllt � q;) � �, J + I

8. 

Define two magnetic elements of the earth. 

¢:R mu � t ? $e4il 3q41frta1� R-tf&Q.1 1 + I 

9. 

• 

What is eddy current ? Write down its utilities. 

<!,l..ij<f>l4( -ij �'}l�ctteft 3Nff-�lf441 cl>1 fffii1 

Write down energy-losses in transformer. 

10. Slcfil:ll � gcflcfi(Ot q;'f eq$1 I� I

Explain polarisation of light.

2 

2 

11. iiifac:+i � � � ? � 3f l<:F?llc:fi � � I 1 + l 

What is critical angle? Write down its necessary conditions.

12. � 3f:.{t�I! � lR 1019 $Jlct�T-t � � �I � � 'Cf{ � 3fJ'Cll �

TTURT cn11 2 

1 O 19 electrons are placed on an uncharged body. Calculate the 

charge produced on the body. 

13. p-� cYtrT n-� 344-ctr�c:+i 1t 3hR m �I 2 

Mention the difference between p-type and n-type semiconductors.
14. ��<ft 3q413jf ch1 �I 1 + I 

Write down two uses of shunt.

15. qfl�-f tmT � i?

What is wattless current ?

16. Sfif>i:11-Jt+I� s14ls � �? � � J441JI �I

2 

I + i

What is light-emitting diode (LED) ? Write do\vn its one application.

124 / A/XII-5003-(Jl/40} I  -
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17. 

• 

f 1 l 7 J

2 

18. 

Convert binary number I I IO I ) 
2 

into decimal system.

\�'\V � Pax � &Q l@n ;;f,i I 1 + l

Explain W\V\\' and F'ax.
19. � �©s➔ 3rR � ttff�➔ <ii ifF.J 3fot �q$1/�I 2 

Explain the difference between nuclear.fission and nuclear fusion.

20� tts◄,f ��n,iq; � �? � lITTfcf> fc;'{ii 2 

What is Rydberg constant? Write down its unit.

cftd' 3fi,Oq � / Long Anawer Type Question• 

'flR +iM1 21 'R" 26 Man/Ill 1IR t , fi,;;t;· 3 'J1Rf iii" TTrr t I JIRI¥ .- fRv 

3 X 5 = JS 

Question Nos. 21 to 26 are Long Answer Type Questions. Answer any 

3 questions. Each question carries 5 marks : 3 x 5 = JS

5 

What is electric dipole ? Find an expression for electric potential at 

any point due to an electric dipole. 

22. 51q,l�I cf;J oqRfct;{Oj � � ? WT � � 00 � '51'mrT 'ij � c#;l ifl'.$1$ �

5 

What is interference of light ? Find an expression for fringe width 
in Young's double slit experiment. 

23. ��W!zyncnT$��������qUR�I
5 

Mention t.he defects of human vision and describe the method to
remove them.
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5 

Write the proP.Crties of diamagnetic, paramagnetic and

ferromagnetic materials. 
25. fc4sl(c+itie c6) � q;l om� SJ. ttl�cf; �I N� �. l �

5 

Define self-inductance and write its SJ. unit. Find the self­

inductance for a solenoid of N turns, length I and radius r.

26. p-n-p � n-p-n �i�RO c€t ilhl4fi1Rf q;T e�::4 clUR � I 5 
•• 

� 

Describe with diagram the working method of p-n-p and n-p-n

transistors. 
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